

## Department of State



TELEGRAM

AN: D870576-0885

08323 01 OF 03 PAGE 01 LIMA ACTION PM-10

AID-00 COPY-01 ADS-00 INR-10 SS-00 LOG-00 CIAE-00 INFO SS0-00 MC-02 NSAE-00 NSCE-00 ARA-00 EB-00 H-01 TRSE-00 OMB-01 INRE-00 ACDA-12 SP-02 HA-09 L-03

/052 W T-01

---122271 211958Z /63 *3*8

211844Z JUL 87 FM AMEMBASSY LIMA TO SECSTATE WASHOC IMMEDIATE 1132

SECTION 01 OF 03 LIMA 08323

FOR ARA/AND - ROBERTA JACOBSON

E.O. 12356: DECL: OADR

TAGS: MASS. PE

ANNUAL INTEGRATED ASSESSMENT OF SECURITY SUBJECT:

ASSISTANCE (AIASA) - PERU - REVISION 1

HAMILTON/JACOBSON AND JACOBSON/CRANE REF: (A)

TELCONS OF 7/17 AND 7/20

**(B)** LIMA 8051

2. REF A REQUESTED MISSION TO PRIORITIZE THE MAP AND/OR FMS-FINANCED EQUIPMENT LIST IN REF B.

INSERT THE FOLLOWING TABLE AT THE CONCLUSION

OF SUBPARA VIII A. REF B:

ITEM DEFENSE NO ARTICLE QUANTITY EST COST **CUM COST** \$(X1000) \$(X1000)

ITEMS TO SUPPORT COUNTER-INSURGENCY OPERATIONS

AMBULANCE 1/4 TON -1 20 80 4

PAGE 02

LIMA 08323 01 OF 03 2119537

-2 RUBBER ASSAULT



IS/FPC/CDR BB1

Only: Cases

( ) CLASSIFY as ) DOWNGRADE 1 Citations

9

authority

o o 13

တတ

2

73

PART e Info

STATE

P

DEPARTMENT

SE (X) DECLASSIFY
(1) DECLASSIFY
IN PART
Non-Responsive Info

Exemptions

RELEASE EXCISE

DELLTE

FOIA E

|  | ASSIFIED |
|--|----------|
|--|----------|

:

•2,4

| (m) (m) m |  |       |             |            |
|-----------|--|-------|-------------|------------|
| -         | BOATS                                  | 5     | 20          | 100        |
| -3        | SLEEPING BAGS                          | 133   | .90         | 120        |
| -4        | RECON VEH 1/4 T                        | 6     | 42.50       | 255        |
| -5        | FRAG PROT VEST                         | 333   | .96         | 320        |
| -6<br>-   | TRUCK TRANSPORT<br>1 TON               | 5     | 124         | 620        |
| -7<br>-   | TRUCK TRANSPORT<br>2-1/2 TON           | 5     | 187         | 935        |
| -8<br>-   | DEMOLITION EQUIP (SETS)                | 10    | 94.30       | 943        |
| -9        | 5KW GENERATOR                          | 30    | 35.70       | 1071       |
| 10 .      | COMBAT BOOTS (JUNGLE)                  | 330   | 3.24        | 1071       |
| 11        | NIGHT VISION<br>GOGGLES                | 66    | 22.35       | 1475       |
| 12        | PNEUMATIC<br>COMPACTOR                 | 3     | 500.34      | 1501       |
| 13        | RUBBER BOATS                           | 21    | 75.62       | 1588       |
|           | FRONT END LOADER<br>DENTIAL<br>DENTIAL | 4     | 553.75      | 2215       |
| PAGE      | 03 LIMA 08323                          | 01 (  | OF 03 21195 | <b>3</b> Z |
| 15        | AIR COMPRESSORS                        | 5     | 499.60      | 2498       |
| 16        | WATER TANK TRUCK<br>2000 GAL           | 3     | 1002.67     | 3008       |
| 17        | FUEL TANK TRAILER<br>5000 GAL          | 16    | 196.31      | 3141       |
| 18        | MAINTENANCE<br>SHOP VAN                | i     | 3261        | 3261       |
| 19        | ROCK DRILLING                          | NEWS. |             |            |



ŧ

| -       | EQUIPMENT                          | 2                  | 1697.5  | 3395 |
|---------|------------------------------------|--------------------|---------|------|
| 20      | TOPOGRAPHIC SURVEY EQUIPMENT       | <sup>1</sup><br>33 | 106.91  | 3528 |
| 21      | MOTORIZED ROAD<br>GRADER           | 7                  | 591.58  | 4141 |
| 22<br>- | CEMENT MIXER<br>16 CU FT, PORTABLE | 11                 | 396.45  | 4361 |
| 23      | PORTABLE POWER SAW<br>TLR MTD      | 10                 | 460.10  | 4601 |
| 24<br>- | 10 TON ROLLER<br>THREE DRUMS       | 5                  | 1000.20 | 5001 |
| 25<br>- | SHEEP'S FOOT<br>ROLLER             | 1                  | 6015    | 6015 |
| 26      | WHEELED TRACTORS                   | 2                  | 2602.5  | 5205 |

CONFIDENTIAL \*

CENTIAL

UNGLASSIFIED

SPENTINE

LIMA 08323 02 OF 03 211955Z PAGE 01 ACTION PM-10

INR-10 SS-00 CIAE-00 COPY-01 ADS-00 AID-00 INFO LOG-00 NSCE-00 ARA-00 NSAE-00 SSO-00 MC-02 EB-00 H-01 INRE-00 ACDA-12 SP-02 TRSE-00 OMB-01 HA-09 L-03

/052 W

---122317 211959Z /63 **3**8

0 211844Z JUL 87 FN AMENBASSY LINA TO SECSTATE WASHDC IMMEDIATE 1133

SECTION 02 OF 03 LIMA 08323

FOR ARA/AND - ROBERTA JACOBSON

E.O. 12356: DECL: OADR TAGS: MASS, PE

SUBJECT: ANNUAL INTEGRATED ASSESSMENT OF SECURITY

CATERPILLAR 27 TRACTORS D-6 5 1180 5900

28 CATERPILLAR 3323 6646 2 TRACTORS D-8

> 24.013.48 72.995 1058

2. B. INSERT THE FOLLOWING TABLE AND NOTES AS ADDITIONAL SUBPARA VIII E. WHICH IS A SUMMARY OF IMET FOR PERU: "VIII E FY-88 IMET PROGRAM." THIS IMET PROGRAM IS ESSENTIALLY A CONTINUATION OF FY 87 LEVELS, OR LESS.

> PERU IMET TRAINING AIASA

LIMA 08323 02 OF 03 211955Z PAGE 02

ę,

CONTINUITY MINIMUM PCT PCT STD DOL CATEGORY STD DOL

| PGS 4 131,035 14.5  UPT/FLT 4 61,281 6.8  TECH 77 301,830+ 33.3  OT 102 184,065 20.4  SUBTOTAL 112 309,674 34.3 116 616,881 68.4  OCONUS TEAMS |             |                  |           |         |       |          |      |
|--|-------------|------------------|-----------|---------|-------|----------|------|
| MGT PGS UPT/FLT TECH TECH TECH TECH TOT 102 184,065 20.4 SUBTOTAL 112 309,674 34.3 116 616,881 68.4 TEAMS                                      | PMF         | 10               | 125,609   | 13.9    |       |          |      |
| PGS  |             |                  |           | 3       | 31    | 122,735  | 13.6 |
| TECH * 77 301,830; 33.3  OT 102 184,065 20.4  SUBTOTAL 112 309,674 34.3 116 616,881 68.4  OCONUS  TEAMS  |             |                  |           |         | -     |          |      |
| TECH 77 301,830; 33.3 OT 102 184,065 20.4 SUBTOTAL 112 309,674 34.3 116 616,881 68.4 OCONUS TEAMS  |             |                  |           |         |       |          |      |
| SUBTOTAL 112 309,674 34.3 116 616,881 68.4 OCONUS *  | TECH "      | 100              | 1011 0/5  | 20 11   | 11    | 301,830; | 33.3 |
| OCONUS<br>TEAMS  |             |                  |           |         | 116   | 616.881  | 68.4 |
| TEAMS "  |             | 112              | 303,614   | 04.0    | 1.0   | •        |      |
|  |             |                  |           |         |       | ₩.       |      |
|  | SUPPORT     |                  |           |         |       |          |      |
| TOTAL \$309,674 (APP 33) \$616,881 (APP 67)  | TOTAL       | \$30             | •         |         |       |          | 67)  |
| - MIN TOTAL \$309,674  | -           |                  |           |         |       |          |      |
| LEVEL TOTAL \$309,674 (33) LEVEL TOTAL \$926,555   | LEVEL TOTAL | <b>530</b>       | 9,674 (33 | ) LEVEL | IUIAL |          |      |
| _ (100)  | -           |                  |           |         |       | (100)    |      |
| PERU PERU  | -           |                  |           | PERU    |       |          |      |
| CATEGORY ENHANCED  | CATEGORY    |                  | Ε         |         |       |          |      |
| - STD DOL PCT  | •           | STD              |           | DOL     |       |          |      |
| oconus 33 59,919 6.6   |             |                  |           |         |       |          |      |
| TEAMS 7 17, 325 1.9  |             | i 7 <sub>.</sub> | 1         |         |       |          |      |
| SUPPORT 8,783 0.9 TOTAL 86,027 (APP 10)  |             |                  | •         |         |       |          |      |
| TOTAL 86,027 (APP 10) CONT TOTAL * \$ 616,881 (100)  |             | ,                |           |         |       |          |      |
| LEVEL TOTAL \$1,012,582 (110)  |             |                  |           |         |       |          |      |

IIMMI AMMIRIRA

(1). OFFICER PROFESSIONAL MILITARY EDUCATION (PME): THIS TRAINING IS REQUIRED TO MAINTAIN US DOCTRINE AND INFLUENCE WITHIN THE PERUVIAN MILITARY. GRADUATES OF THESE ADVANCED/SPECIAL COURSES USUALLY RETURN TO INSTRUCTOR ASSIGNMENTS WHERE THEY INCORPORATE US

PAGE 03

LIMA 08323 02 OF 03 211955Z

TRAINING TECHNIQUES AND NEW INITIATIVES ACQUIRED DURING THEIR TRAINING. ADDITIONALLY, STATISTICS SHOW THAT GRADUATES OF THESE ADVANCED/SPECIAL COURSES ARE SLATED TO OCCUPY POSITIONS OF HIGH RESPONSIBILITY WITHIN THE PERUVIAN MILITARY SERVICES LATER ON IN THEIR CAREERS.

(2). OFFICER MANAGEMENT RELATED TRAINING (MGT):
THIS TRAINING IS REQUIRED TO PROVIDE THE PERUVIAN
MILITARY SERVICES WITH THE NECESSARY SKILLS TO
EFFECTIVELY MANAGE THEIR MATERIAL ASSETS.

CONFIDENTIAL

UNGLASSIFED



(3). OFFICER POSTGRADUATE SCHOOL (PGS): SAME EXPLANATION/JUSTIFICATION AS ITEM (1) ABOVE. CURRENTLY THERE ARE NO MILITARY/CIVILIAN PG SCHOOLS IN COUNTRY THAT WILL MEET THE PERUVIAN MILITARY TECHNICAL SERVICES REQUIREMENTS. PERU'S PRESENT ECONOMICAL SITUATION PREVENTS THE ARMED FORCES FROM USING U.S. CIVILIAN UNIVERSITIES.

(4).UNDERGRADUATE PILOT AND FLIGHT TRAINING (UPT/FLT): THIS TRAINING IS REQUIRED TO UPGRADE COUNTRY CAPABILITY TO HAVE ITS OWN INSTRUCTOR PILOT AND LOADMASTER IN THE C-130 AIRCRAFT. THIS TRAINING IS IN SUPPORT OF AN FMS PURCHASE OF TWO C-130 AIRCRAFT.

(5). TECHNICAL TRAINING (TECH): THIS TRAINING IS REQUIRED TO PROVIDE PERU WITH THE NECESSARY SKILLS TO OPERATE AND MAINTAIN INCREASINGLY SOPHISTICATED

MILITARY EQUIPMENT AND TO COUNTER THE TERRORIST THREAT NOW CONFRONTING THE COUNTRY.

UNGLASSIFIED

PAGE 01 LIMA 08323 03 0F 03 211955Z

ACTION PM-10

AID-00 SS-00 CIAE-00 COPY-01 ADS-00 INR-10 INFO LOG-00 NSAE-00 MC-02 NSCE-00 ARA-00 SS0-00 **EB-00** H-01 INRE-00 ACDA-12 SP-02 TRSE-00 OMB-01 HA-09 L-03 /052 W T-01

0 211844Z JUL 87

FM AMEMBASSY LIHA TO SECSTATE WASHDC IMMEDIATE 1134

SECTION 03 OF 03 LIMA 08323

FOR ARA/AND - ROBERTA JÁCOBSON

E.O. 12356: DECL: DADR

TAGS: MASS, PE

SUBJECT: ANNUAL INTEGRATED ASSESSMENT OF SECURITY

(G). ORIENTATION TOURS (OT): THE ORIENTATION TRAINING TOURS ARE FOR THE CENTRO DE ALTOS ESTUDIOS MILITARES (CAEM), PERU'S EQUIVALENT OF THE NATIONAL WAR COLLEGE AND THE PERUVIAN NAVY SENIOR WAR COLLEGE, THE TWO SENIOR WAR COLLEGES IN PERU. THESE TWO OTTS ARE STRONGLY ENDORSED BY THE AMBASSADOR AND THE COUNTRY TEAM. THE OBJECTIVE OF THE OTTS IS TO PROVIDE THESE HIGH RANKING PERUVIAN MILITARY AND CIVILIAN STUDENTS THE OPPORTUNITY TO BECOME ACQUAINTED WITH US MILITARY DOCTRINE, TECHNIQUES, PROCEDURES, FACILITIES, EQUIPMENT, ORGANIZATION MANAGEMENT PRACTICES AND OPERATION THROUGH SHORT TERM ORIENTATION OF ABOUT TEN DAYS DURATION. AIR TRANSPORTATION FOR THE CAEM OT IS PROVIDED BY THE PERUVIAN GOVERNMENT AND THIS SUBSTANTIALLY REDUCES THE COST.

(7). TRAINING OUTSIDE CONTINENTAL US (OCONUS): THIS TRAINING, IN A LARGE PART, PROVIDES THE SAME RESULTS

PAGE 02 LIMA 08323 03 0F 03 211955Z

AS ITEM (1) ABOVE FOR NON-ENGLISH SPEAKING PERUVIAN MILITARY OFFICERS. IT WILL ALSO PROVIDE NECESSARY



SKILLS TO NON-ENGLISH SPEAKING ENLISTED TECHNICIANS IN ORDER TO EFFECTIVELY OPERATE AND MAINTAIN AIRCRAFT AND ASSOCIATED EQUIPMENT. ADDITIONALLY, IT INCLUDES OPERATIONS AND LEADERSHIP TRAINING FOR JUNIOR OFFICERS AND NCO'S IN PATROLLING AND SMALL UNIT TACTICS WHICH IS GREATLY NEEDED TO COMBAT PERU'S CURRENT INSURGENCY PROBLEM.

(8). SUPPORT: THIS TRAINING LINE IS IN SUPPORT OF MEDICAL SERVICES PROVIDED IN CONUS. THERE ARE NO PROJECTED REQUIREMENTS FOR ENGLISH LANGUAGE TRAINING EQUIPMENT/MATERIAL FOR FY-89.

3. IF FURTHER CLARIFICATION IS REQUIRED, PLEASE CONTACT COLONEL JANNARONE OR CDR CRANE, 41-1281 OR 40-2851. WATSON. DECL OADR



